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8.1 BRI BN PRAVIN %14 B

AR 8.1 (SR HARPR A1)

1. "B—H. f(z) £ 2o KA IR, W HIRAEE—,
2. By RN f (1) £ mo KATARIR, W f(z) 42z 893 — AR A R
3. RS f(2) 48 zo A IR, BARMAKTF (1 F) &, 0 f(2) & xo 89E—ATHA

XF ) E
4. B f(2) = g(x), B lim f(z), lim g(z) A HE, W lim f(z) > lim g(z).
T—T0 T—T0 T—T0 10 .
ME—
Ay — Ay

% 11m f(z) = Ay, hm flx) = Ag. B AL > Ay, N e = > 0, U 36; > 0,Vz,0 <

|x—x0| < (51 = |f(z) — A1| < g X3 > 0,Vr,0 < |z — 20| < 0y = |f(z) — As| < &. B
§ = min{dy, 6o}, MV, 0 < |z — 0| < = |A) — Ay <&, T /.

ARER 8.2 (R f(x) 1 zo LEEHNTONTEEY)

l. Ve > 0,30 > 0,Vz,0 < |z — x| <6 = |f(x) — flxo)| <&

2. f(xo—0) = f(zo) = f(zo +0)sie. f(z) £ xo RBLAEL X HEL,
3. f(x) = f(zo) + a(z),a(z) = 0(x — zo);

4. AlchEOAy =0, %+ Az =1 — z9, Ay = f(x0 + Az) — f(0).

P iy )= 1200 = S-Sl ) = 0 Hle) e )
B £(a) = Sao) + alo). B f(a) 4 ag AHES. £ i f(0) = Jim (o) + afe) =
f(wo) + lim a(z) = f(zo), & f(z) 2o 2

4 v —x9e Ar— 0, f(x) — f(zo) <:>Ay—>0,“ékwli_glof(m) = f(zo) & hm (f(x) = f(zo)) =

Az—0

0« lim Ay =0.
Az—0

8.2 JLNEAMIES

§ > 0 NHEL, & a(r) — 0(00), B(z) — 0(c0), x — 0.
1. R oo B9 6 ABI:U (20, 0) = {2]0 < |z — 20| < 0}
2. mmg M0 § ABIBU (20, 0) = {z|0 < |2 — x| < §}\{z0};

3 % I % 0, WHEA alx) = o(A(x)): 255 alz) £ () MEHTES I, 888 5(2)



8.3 TAJ BT &

& alz) MR TET K,
4. # 3IM > 0, s.t.|a(z)| < M|B(z)|, Vo € U*(x,6), MiE AN a(z) = O(B(x));
te: R RHIN ofr) FORMREHSS (] lim L) — 0}, T O(w) RomHAL R K
£45 {fI3IM > 0,36 > 0,Va € U*(z0,6) = |f(x )| < M!x\}. R, = o(z),z — 0
TR LR 22 € o(x).

1§J81z§$1%0 52 ; a#0, M a(x) = 0B(x)),z € U(xo,8). WINFK a(x) 5 B(x) NFEMT

55/ CR), H a(x) ~ ozﬂ(:v),xl—> Zo. ,
5] 8.2 % a,, = Inn, b, = 1+§+---+E,cn =n,d, = Vn!, M n — oo B,a,, by, Cn, dn — 00, H.
a, = 0(by), b, = 0o(cy), cn = o(dy).
5 8.3 4 o — xy BE, UEBH:

L. o(a(z)) - o(B(x)) = oa(z) - B(x));

2. O(a(z)) - O(B(x)) = O(a(x) - B(x));

3. O(o(a(z))) = o(a(x));

4. 0o(0(a())) = o(a(z)).

it IXHM o(a(x))o(B(x)) BANFIREAHTE, B o(a(x))o(B(x)) = {fg|f € o(a(x)),g €
o(B(z))}-

WEBANHE, AT ELEAT A

8.3 [8)if =

f(x) FEH X [a,b] FIESERR f(x) 7E [a,b] LR — S E&RELE, W) f(x) 7F (a,b) BIRE— A
#WiELL, H f(a+0) = f(a), f(b—0) = f(b).

(z) 1E [a, +oo) LIELETR f(x) 7E (a, +oo) MRE— m#ESL, H f(a+0) = f(a).

# f(x) FE zo AbIE] W, DU

2. (

3. f(xg—0) =00, f(zg +0) =00 & 29 52 f(x )E’J%ﬁlEﬂLﬁﬁ,

4. flwg — 0) = —o0, f(zo + 0) BDH—MAMFLE, H. f(zg — 0) # oo, f(zo + 0) # 00 & g
& f(a) HEE S a] W rb i) e T T AL

8.4 JLAMFFaltAEH]EF R AVESL 1

1. 2k 755 (Dirichlet) A% D (2) = {1’ re@ ]

0, zeR-Q.
(a). £ (—o0,+o00) LA G, HEAMARE, (£ IEA AR D(x) K&, A

D(x) FAFE BN E 3,



8.4 JUAN4F A HuIE 05 ok B 09 B St

(b). D(z) fFEAEE — RHANELE, B D(x) 7£ (—o0, +oo) AL AL [H]
(©). g(x) = zD(x),z € R, W g(x) {XAE z = 0 AbIEZE.

(a). |D(z)| < 1,Vz € R, ¥ D(x) £ (—o00,+00) LHF. X Ve e R,qo € Q,D(z + qo) =
D(z), 8 D(x) = B A & 4.

(b). E% — & zo, RATT UBE — A BEEHA KW ERE GO 7] {a,} WEE zo,
8] DLAR B TR B A0 2E ey R () #0F {b,) SR E] 2, FTLA nli_{IOloD(an) =1,
iif] Tim D(b,) = 0o BT VLR AEAE (T — Eéﬁfﬁﬁ(‘ﬁ%ﬁ?ﬁﬁ A H KA BT R

(©). (O)—Ohm|g( )| < 11m|x|=0,f55(g()7£11::0k .5 v #0,9(x) £ x E

s | D(x) = L& )mx ST S gln) A w — 0 A

1, x=0;
" 1
2. Riemann HR#:R(x) = p g(p,q €Z,q#0,(p,q) =1); W
0, zeR-Q.

(a). R(z) {E (o0, +oo) LAbAA & X, A HEWN 1,
(b). (x)?if@*ﬁxo&\*}}ﬁﬁjjOle hm R( )—OVQJOER'
(©). R(z

éZ— z € (1,4+00),
n=1

E(x) 78 (1, + ) ACARIESE, ARAETTRL. H £(z) € C™°(1, +o0).ie. {(z) 7E (1, +00) EAbAb
HAAE %Lﬁf‘ SRR L
4. T'(x) 2 / e 't tdt, x> 0,
P(a) 75 (0, +00) FESE, MALATRL, FL D(z) € C(0, +00).
2 B ex2.1:4,5,6(2)(4)(5).7.8,17(D(3)().



